R D?

000 (ad 8b)(adl 6b)
0
000 (xO 7y)(xD 6y)
0
000 (ad 3b)(ad 9b)
0
000 (ad 6b)(ad b)
0
000 (x0 6y)(x1 5y)
0
000 (xO 6y)(x0 2y)
0
000 (ad b)(al 7b)
0
000 (x0 3y)(x0 7y)
0
000 (x0 6y)(x0 8y)
0

0 100 (a0 3b)(all 5b)

O

Fall 100 (x+ay)(x+by) O

0110 (ad 3b)(al b)
O

0120 (ald 7b)(all 4b)
O

0130 (xO 7y)(x 3y)
O

0 140 (X 6y)(x] 5y)
O

0 150 (xO 5y)(x y)
O

0 160 (al] Sb)(all 6b)
O

0170 (ad 4b)(al 8b)
O

0 180 (xU 9y)(x 4y)
O

0190 (ad 7b)(all 8b)
O

0200 (xOI 4y)(x[ y)

g

g

TR N



000 (ad b)(al 4b)
0
000 (x0 9y)(x1 5y)
0
000 (x0 9y)(x0 4y)
0
000 (X0 7y)(x3 8y)
0
000 (x0 4y)(x0 6y)
0
000 (X0 4y)(x3 2y)
0
000 (x0 4y)(x0 8y)
0
000 (ad 7b)(all 4b)
0
000 (x0 3y)(x3 6y)
0

0 100 (all 6b)(al] 7h)

O

R D?

Fall 100 (x+ay)(x+by) O

0110 (xO 9y)(xOJ 8y)
il

0 120 (ad 4b)(ald 7b)
il

0130 (a0 6b)(al] 4b)
il

0 140 (a0 9b)(al] 4b)
il

0150 (xO 2y)(x0 8y)
il

0 160 (a0 8b)(ad 2b)
il

0170 (ad 5b)(ald 6b)
il

0180 (xO 6y)(xOJ 8y)
il

0190 (xO 8y)(xO 7y)
il

0 200 (al] 2b)(al] 6b)
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R D?

0 00O (xH 9y)(x 5y)
O

000 (xO ey)(xO 2y)
O

000 (ald 2b)(all 7b)
O

000 (x0 6y)(xd 9y)
0

000 (x3 y)(xO 8y)
0

000 (xO 7y)(x0 3y)
0

000 (ad 4b)(all 8b)
0

000 (xO 4y)(xD 6y)
0

000 (ad 9b)(adl 8b)
0

0 100 (all 9b)(all 4b)

O

Fall 100 (x+ay)(x+by) O

0110 (al] 6b)(all 8b)
O

0 120 (xO 4y)(xC 3y)
O

0130 (ald 2b)(all 4b)
O

0 140 (adJ 2b)(all 6b)
O

0 150 (al] 9b)(all 8b)
O

0 160 (al] 6b)(all 8b)
O

0170 (ald 7b)(all 8b)
O

0 180 (ald 6b)(all 7b)
O

0190 (all 2b)(all 4b)
O

0200 (X1 3y)(x] 9y)

g

g
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R D?

000 (xO 7y)(x0 4y)
0
000 (ad 2b)(all 8b)
0
000 (xO 3y)(xD 6y)
0
000 (ad 8b)(ad b)
0
000 (x0 2y)(x0 6y)
0
000 (xO 5y)(x0 6y)
0
000 (ad 9b)(ad b)
0
000 (xO 6y)(x0 5y)
0
000 (ad 8b)(all 4b)
0
0100 (xO Sy)(x0 y)

O

Fall 100 (x+ay)(x+by) O

0110 (xO y)(xO 6y)
O

0 120 (a] 8b)(all 5b)
O

0 130 (xO 6y)(x 5y)
O

0 140 (xO 5y)(xUI 7y)
O

0 150 (xO 2y)(xU 7y)
O

0 160 (al] Sb)(all 6b)
O

0 170 (xO y)(xO 6y)
O

0 180 (xU 9y)(xUI 7y)
O

0190 (xO y)(xO 7y)
O

0200 (ad 2b)(ad 3b)

g

g
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R D?

000 (xO 8y)(xD 6y)
0
000 (a0 9b)(adl 5b)
0
000 (xO 3y)(x0 9y)
0
000 (ad 5b)(adl 6b)
0
000 (x3 6y)(x0 y)
0
000 (ad 5b)(ad 3b)
0
000 (X0 7y)(x0 9y)
0
000 (x0 y)(xO 6y)
0
000 (ad 6b)(ad 7b)
0

0 100 (all 6b)(al] 2b)

O

Fall 100 (x+ay)(x+by) O

0110 (ald 3b)(all 6b)
O

0 120 (al] 9b)(all 5b)
O

0130 (xO 7y)(x y)
O

0140 (a0 3b)(al b)
O

0 150 (XU 3y)(xU 4y)
O

0 160 (al] 9b)(all 3b)
O

0 170 (xO 6y)(xL 4y)
O

0180 (al 2b)(al 6b)
O

0190 (ad 7b)(al 5b)
O

0 200 (all 3b)(al 7b)

g
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